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General Instructions : —
() All questions are compulsory.

(i) This question paper contains 18 questions, which are divided into
four Sections : A, B, C and D.

(iii) Section — A contains question number 1 having twelve (i-xii) objective
type questions. Each question carries 1 mark. Question from (i) to (viii)
multiple choice type questions. Each question carries four options, from
which choose the correct option. The answer of each question from (ix) to
(xii) may be given in one or two words or sentences.

(iv) Section — B contains question numbers 2 to 10 of very short answer
type questions and carry 2 marks each.

(v) Section - C contains question numbers 11 to 15 of short answer type
questions and carry 3 marks each.

(vi) Section — D contains question numbers 16 to 18 of long answer type
questions and carry S marks each.

(vii) Internal choice is available in two questions of Section-D (Long
Answer Type Questions). You have to attempt only one of the given
choice in such questions.

qus - A
SECTION - A

(gfrs 5e)

(Objective Type Questions)

1. () f=fafed & 8 fhad sgyemr a S 8 ? 1
(A)  HTER
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(B) €au

(C) =

(D) W

In which of the following polyembryony is found ?

(A) Guava

(B) Orange
(C) Gram
(D) Maize

(i) TH RIg MR I A B SRR & 'O’ 71 Rig B @ & SR @ w@w
T & T ¥ 7 1
(A) A’
(B) 'B
() 'O
(D) T @i

A child and his/her mother both has blood group 'O'. What can be
the possibilities of blood group of father of child ?

A) A’
(B) B
(€) 'O
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(D) All of these

(i) T TR rREEE § e &R g @ S oF T gt el & ¢ 1

(A) 200
(B) 400
(C) 1000
(D) 2000

A typical nucleosome contains how many base pairs of DNA helix ?

(A) 200
(B) 400
(C) 1000
(D) 2000

(iv) FREEY B & e I e FROT BT B ¢
(A) T
(B) Siary

(C) fammy
(D) Wiere™

Black rot disease of crucifer is due to :

(A) Fungi
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(B) Bacteria
(C) Virus

(D) Protozoans

(v) fr=fafea § @ f9-a1 9 B 7 1
(A)  SEEERT
(B) #HI&hT
(C) THRIGFR
(D) FAEfSTH

Which of the following is yeast ?
(A) Lactobacillus

(B) Monascus

(C) Acetobacter

(D) Clostridium

(vi) HfvH BT #4187 1
(A) AR
(B) SIeH
(C) MBI
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(D) SfewE
Armyworm is :
(A) Coleopteran
(B) Dipteran
(C) Lepidopteran

(D) Bacillus

(vii) 39X ofX X & U fpan fohaen Saresor § ?

(A)  FEHIST

(B) @EIgeHIIRaT

(C) TXoftfere

(D)  9THET

The interaction between fig tree and wasp is an example of :
(A) Commensalism

(B) Mutualism

(C) Parasitism

(D) Predation

(vii) g a9 (e arf) § SF-8 9 B qais aeE 8§ ¢ 1
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(A) CFCs
(B) N20
(C) COs
(D) CHa

Which gas contributes the maximum in Global Warming ?

(A) CFCs
(B) N20
(C) COs
(D) CHa
(ix) SigrE fhd Fed § ? 1

What is coleoptile ?

(x) SE HE & AW fafew, sEr TEhEe T e’ @ @ g ¢ 1
Name the Institute where 'Saheli', an oral contraceptive tablet was

developed ?

(xi) SH THEIH & AW fRaw Fed € o7 T & GE H oW R o e
1

Name the technique by which DNA fragments can be separated.

(xii) T ST F B 8§ ? 1

What are stenothermal organisms ?
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gug - §

SECTION- B

(SAfey-Sregerees 99)

(Very Short Answer Type Questions)

2. 97 e 5 Fea B ? 3o aifwar fiew 2

What is external fertilization ? Write its disadvantages.

3. TNy # Ta-Fraa & IR § e 2

Write about surgical methods of contraception.

4. T 1S ? @ R Aol & AW faRaw 2

What is fishery ? Name two marine fishes.

5. TIECHERA & I 7 i 2

Write about phenylketonuria.

6. I A THEET & HROT 1 8 ? 59 SHd § RBC & FT i & ¢ 2

What is the cause of sickle cell anaemia ? What happens to RBC in this

disease ?

7. IO Sig SiR Aregf @ AT § e § oF © Sl sas SO & farEr @ e
72
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What are the methods to introduce alien DNA into host plant and

animal cells ?

HAYeH IS T H AW R HERT TE % g | 36h g9 B 1 A © ¢
2

Name the first transgenic cow. What is the advantage of its milk over

than natural cow milk ?

. IR Y Fed € 7 2

What is biopiracy ?

fsgemdt ST (ea artiT) & &A e S Rt # b 8 ¢ 2

How can we control Global Warming ?

qie -9
SECTION- C

(TR 99)

(Short Answer Type Questions)

U & YT & IR HE P THih ARG B¢ 3

Draw a well labelled diagram of L. S. of an embryo of grass.
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12. &7 &ffog &% R7eg AR s aMg # fdvan ke 3

Write down the features of Homo habilis, Homo erectus and Neanderthal

man.

13. aNfeifssd 1 & ar ¥ fRaw 3

Write about opioids drugs.

14. Yiqees U9Eg @ 8 7 39 UOEHl & AMEIO B UOUN Rl U Sasd gied
feriemy 3

What are restriction enzymes ? Write the convention for naming such

enzymes with an example.

15. JUEHD 9 F1 AU & ? 9hd WA Skl 9 A Wb Sdeddl
Y W HifTT 3

What is meant by productivity ? Differentiate between gross primary

productivity and net primary productivity.

qug - §
SECTION- D
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(Long Answer Type Questions)

16. 3o fafy @ aoi= FHifm 5

Describe the process of oogenesis.

OR

ol | g€ T GIEHE H U i 5

Discuss parturition and lactation in human beings.

17. WEIA & G § o9 $Hifm 5

Describe translation in brief.

AYqT

OR

AR T 1 ¢ ¢ 36 TgE AR fafeg 5

What is genetic code ? Write its salient features.
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18. Sig fafqaar & e &9 g9 & Ui H GO BT 5

Describe species area relationship pattern of biodiversity.
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